20214£6 A 29 A
RIEH A A AL

1.5 77 A R B AR 1
202 148H%

THE B
THE LR 10. 0%
JFUEHIRE  (Bidk)
BB NFEET 52021453 H 72 H 2021455 £ TOB B HEMEIZ L Y £,
O FHEEHER = 64,760

JEUEH R R A (BlaA)

Hak HiAti (F/ni)
& 78 IR G s Fe A A K
fi15 71 A /b Fefia sk

30.03

(1) JeHMmAs s (Bidk)
SR OB RS — FE 2 SRR RS
= 64,7609 —51,680H]
= 13,080M
— 13,000/ (100 AT Dtk & 8] v #57C)
(2) B E IR (BLA)
0.210 X JFUEMHFZEEE ~ 100 X (1 + WHEBIER)
= 0.210 X 13,000/ = 100 x (1 + 0.10)
= 30.030M4
= 30.03[  UNBURES 2 MEARTE DU 2 2D/ S WHIZEI Y #50)



